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( For Scheme I Candidates~ 

Second Year Higher Secondary SA Y/lmprovement Examination 
Part- Ill 

CHEMISTRY 
Maximum : 60 Scores 

Genera/Instructions to Candidates : 

Time : 2 Hours 
Cool off time : 15 Minutes 

• There is a 'cool off time' of 15 minutes in addition to the writing time of 2 hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the 'cool off time'. 
• Use the 'cool off time' to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the 

same question itself. 
• Calculations, figu res and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non programmable calculators are not allowed in the 

Examination Hall. 
m 1 ro <ll c:3 Clll 6liY3 db : 

• m1iOC31nS1us ffi.)Q)CillmiDlm nJJ,06lQ) 15 Q)1m18 'cmJcfb 63oru:r 6>6lso' ~61150co5lffi1c:OOJ,o. ~ro 

CYU Q) CQ! (l511l)u C8..!2J 0 B j 6m3 cfbc£76) ~miD (l) o %) '? 6 ®0 C8 mo, Q) 86~ OJ ffiJ,Q) 0 co5l ffi@ ({() CQJ oJ1 m1 Q) CQ!o 

mS0'©0c&mo nJOS1~. 

" ~0'©ffi6l!Bcfb %)'f'J,®J,0D®1m QlJ,mJ Gl..!lJOBj6l!Bcfb §BDOnJJCOC)do OJOCill1c£16>6ffio. 

• oti}~JP <ll..!lJ OBj6m3UbcOOJ,o ~0'©(l)o oti)'f'6®6ffio. 

• 63(()6 Cll..oJor:3jmm.Jro ~0'©(l)6JQ)'f'6®ocm 6J®(l)6J6'!"tl't'TT)S60'©6 cm':916'!"tl't'TT):::J~ ~nJC8..oJOBj6m3§2,o 
((3)'()(](15) Gl..!lJOBj ffimJffilaf& mlm)' ®6>Cffi 6l®(l)6)6'f'n"(lj)SJ,Cllcf16)6115®:::lml. 

• d))6fficB6>v cf},6§eJ6cfuUO, ..oJll®6\lBUO, l(f):::ln..06cfucib, %)(Yn10J ~miDffi Clln.Jc;H01~ ®6)Cffi 

~ 6'1"@:) co5l ffi1 cOO 6ffi 0 . 

" Cll..oJ :::lBj6l!BCJb Q)eJCQ!O~~leJJ,o (()rWcf},1CQ5l§J,61@. 

• CG'@)OJ(f()jQ),~~~ ffilOf.'lJ(lliTI)v ffi)Q)OJ:::lcmj6m3(JO 6'>d)"OSJ,c£16>6ffio. 

" CllnJOl(f):::lQ)J,d).)cfD 6l.ilJCB:j:::lffi:::lcfu0(1ft'm ce):::l~cB6>J,ClleJR06cmcfD 63'-916>cfuCQ.l6§§ 63ffi6 ~eJClllc£1s06YD1.fu 
~o.Jcm(l)6ffiOJJ,o (u(l)idJ>..'t18o.OO~ffi'& ~nJ<l:CQJO(f)lcOOJ,OJOcm oJ:::lSJ~. 

'~--~-·-- ·----~·- ·---- --·-----~--~-~--. ------ ~~ . . 
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1. Unit cells can be broadly classified 

into 2 categories - primitive and 

centred unit cells . 

a) What is a unit cell ? (1) 

b) Name the three types of centred 

unit cells . (1 Y2) 

c) The unit cell dimension of a 

particular crystal system is 

a = b = c, a = ~ = "Y = 90 . 

Identify the crystal system. (1) 

d) Give one example for the above 

crystal system. (%) 

(4 Marks) 

2. Liquid solutions can be classified into 

ideal and non ideal solutions on the 

basis of Raoult's !aw. 
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a) State Raoult's law. 

b) What are ideal solutions? 

(1) 

(1) 

c) Write two important properties of 

ideal solution. (1) 

d) What type of deviation is shown 

by a mixture of chloroform and 

acetone? Give reason. (1) 

(4 Marks) 
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1. CQ)J6TD1Ff 6lCYl)@JJcfu6l§ (()6TYSOCQJ1 ®roo 

®1ro1cfr6lOo - LnJlm1R"loJ WJ6TD1Ff 
6)CY\)8mcfu6l§CffiJO 6)ffi)(]l~(/)cu) CQ)J6TD1Rv 

6)ffi) 8m cfu6) § Cffi2, 0. 

a) CQ)J,6TD1Ff 6lcmaft ~mDo6/l) ? (1) 

b) illJCffi6 ®roo 6lffi)Gl~&ru) CQJJ,6TD1Ff 
6lffi)g?&cfu~6lS GloJ6l(()':?J®Jcfu. (1 %) 

c) 63roJ Lcfu1@e<f0 m5l@@Ol16l~ CQ)J6TD1Ff 

6)ffi)w6)~ (ID()~ru6.mw 
a = b = c, u = ~ = "Y = 90 . 
g:QciD om® Lanl @aft m5l miO (('j@)6/l) ? 

(i) 
d) mJan~1nm cmJ_!2]]~~ Lcful@aft 

m5l@@Ol1m 63roJGOo.Dro6TDo 

~':?J®Jdb . (%) 
(4 Marks) 

2. LGOOJcB) eJOCQJm1an6l§ aoocJDR'cn.l 
m1 CQ) m com16l ~ @() s1 mm om @Ol1 aft 
6l ~ ru51CQ)aft eJOCQJmlcBJcib amomn 
6l~ru51CQJaft enCQJm1cBJciD ~('(T") ®roo 
®1 ro1 cfr6l::> o. 

a) cgoocibFfm5' m1CQJmo LoJCQ?::>oJlcfr6lJcfu. 
(1) 

b) 6l~cu5lwnm eJoCQJm1cBJciO 
~cmonm ~c® ? (1) 

C) 6l~cu5l<IDaft eJOCQ)ffi1cfu§66lS (()6T152, 
L oJ wom6l c;d 3 cmoJl C8CJOo.9:::1 ®cfu cJD 
O{H6l®~Oo ? (1) 

d) <llooOC800<llo...00illJO (ID()ffi)C8R06TDJO 
<ll..QJ&cm m1@1®o O{B®J ®roo 
OJj®1CQJ::>mo LoJanSl~cfr6lJrm6 ? 

<fb0(()6TDo ~':?J®Jdb. (1) 
(4 Marks) 
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3. We can construct innumerable 
number of galvanic cells on the 
pattern of Daniel cell by taking 
combination of different half cells. 

a) What is a galvanic cell ? (1) 

b) Name the anode and cathode 
used in the Daniel cell. (1) 

c) Name the cell represented by 

Pt(s)/H2(s) /H;~q). (%) 

d) According to convention what is 
the potential of the above cell at 
all temperatures? (1) 

e) Write the use of the above cell? 
(%) 

(4 Marks) 

4. The conversion of molecule A to 8 

follows second order kinetics. 
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a) Write the rate equation for the 

second order reaction. 

b) If the concentration of A is 

increased to 4 times, how will it 

(1) 

affect the formation of B. (2) 

c) Indicate the order and 

molecularity of the reaction given 

below. 

H ~ 

C12 H22 011 +H20----t 

CeH120e + C6H120e · (1) ' 

(4 Marks) 

3. oJloJlw cill:::Jo.Du 6lc¢~c£b~6lS cruo<llCW:::J 
~ffi(O'®:)aYn <W:::>0'51cwaft 6lcru§Jl6lcm m"1®1 
mf1 e.J6 ~ ntD 6J;q m R w :::> am OJ :::> m1 c£bu 
6lcru~c£nci0 m1roam1ce6l:::>o. 

a) w:::> aft ru:::>ml cfu' 6l cruaft ntD rrw)afn 
ntDmn? (1) 

b) <W:::Jm1cwam 6lcru~6lcm cG'@<llm:::>cw6o 
c£b:::J<llLO:::JC1.D60 o.ffi6l®~po ? (1) 

c) Pt(s)/H2(sl / Hr"aq) ntj)rm 

6lcru§Jl6l~ CloJ6lmmn ? (%) 

d) ntJ)~O ®:::>oJcn1 eJ mf1 e.J6o m6c£n§1 aft 
cruJ.!.l.TI~~ 6)crt)~6)cm 6loJ:::J§dOnS:ljaYn 
O{{)l® ? (1) 

e) C'G@ 6) crt) §Jl6lcm 63(06 ~nJ Cl CQ):) CJ)o 
0{{)1.96®6c£b, (%) 

(4 Marks) 
4. A O{{)Cffi ClnCYI!Ol® 8 C'G@Wl moo6 rm® 

63ffi6 6l cruce6l emu 63:::>&<W& 6l 6lcfhcnR1 
cfh'm5l m ~Bo rill co 6ffim o 6'fl'). 

a) 6) crt)d16)~ 63:) rocw ro (():)crt) l nJ OJ ro 
(O'®ffi(0'®16lcm ClO 8 gJ2 <llc.fujnS:l m 
O{{)l.96®6cfu. (1) 

b) A cw66Js (J):::JM® 4 ms615136 OJroB.ISl 
~~oaft '8' CW66lS ~aYnr;tjOBmcmSlaft 
~6TI'50c£b6cm m:::>R6Jmmrr ? (2) 

c) ®o 6W 6lc£bJS6 em)] m1 ce6l6 rm co Jcru 
LoJOJro(O'®m®"0)16lcm 63orocwo6o 
(g Q):) g1 dt£)6 eJ:) c61 81 CQ) 6 0 ntD l (l5) ? 

(1) 

(4 Marks) 



5. There are mainly two types of 

adsorption of gases on solids. 

a) What are the two types of 

adsorption of gases ? (1) 

b) Write any two characteristics of 

each of the above two types 

of adsorption. (2) 

(3 Marks) 

6. The scientific and technological 

process used for isolation of the 

metal from its ores is known as 

metallurgy. 

a) Name the method used for 

removing gangue from sulphide 

ores. (%) 

b) Explaintheabovemethod. (1%) 

c) Give two examples for alloy steel. 

(1) 

(3 Marks) 

7. a) Name the products obtained 

when copper react with 
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concentrated nitric acid . (1) 

b) Write down the chemical reaction 

between concentrated Nitric acid 

and Aluminium. (1) 

c) What is the basicity of H3P03 ? 
(%) 

d) How do you account for the 
basicity of H3P03 ? (%) 

lllllllll!llllllllllllllllllll 

5. 6lJ ro OJ <IJ? 6 c£76) §.1 am OJ 8 em cfrJt)(ffi §.6 6) s 

ffiTI>®1~WJn916TDo ffi6ll56 ®a>QaYO ~6"1"@. 

a) mTI>OJ offi@CID~Jo ? (1) 

b) mTI>CtJ 63J~a>Jnn1~~CW6o ffi6ll56 

cruoJl ~(/()n91 cmc..e:,cfO oJ'l ®o om ':!'6 ®6cfh. 

(2) 

(3 Marks) 

6. ~e.JJnD60B6)§_ mTI>OJCW66)S mTI>W1ro1afO 

m1 Cffi6 0 ~OJ (0 cm1 ro1 c£76)6 (ffi (/() 8l cw"l (Q) 0J6 0 

cru 8 ~ ffi:, cm1 c£h 0J6 Q) J (Q) l o.J l c£h 1 (Q) (Q) 8 6TT)u 

~ e.J 8nD cruom)c£76)ro 6mo. 

a) cruciO@@o.ilcW mTI>Wla>6c£ngilafO m1cm6o 
W8o6d ~ruf0cm1ro1c£76)6Cffi Cll"lcm1CW66)S 

~(lj6)(l)':l'6®6c£h. (%) 

b) m6c£nglaf0 cruJ..Q]<;dl~ Cll"l®1 

oJlwBD:l8c£76)6c£h. (1 %) 

c) mro~ e.1 8a:>.l' ~ en m (l) 61"fJ ~BJ n.oCll 

6TD60Bcf0 04)':!'6CID6c£h. (1) 

(3 Marks) 

7. a) W8<U.96)6)ffiLS1cili (G'®m51M6o ~cfh8CJ::J 

06D:l8cilll l o.J OJ comm1 c£76)6 ~mnc.iD 
e.J@lc£76)6Cffi ~aY0o.J(ffi60B00 omru ? (1) 

b) (f)8Ql96)6)ffilSJcfu (G'®m51CW6o ®OeJ~ 

m1mlcwo ~e.J8nDOJ6ill8Wl ffiSc£76)6Cffi 
Cll8cru L o.J ru co@'O)m o oJl w B D:l8c£76)6 c£n. 

(1) 
c) H3P03 CW66)S ~6llim5lc£ncm O{Dl®? (Y2) 

d) H3P03 CW66)S ~6llim5lc£ncm 

oJ!WBD:l8c£76)6c£h. ( 1f2) 
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e) Write down the main three steps 
involved in the manufacture of 
sulphuric acid by the contact 
process. (1 Y2) 

f) Write any two important uses of 
noble gas elements. (%) 

(5 Marks) 

8. i) d-block elements belong to 
groups 3 - 12 in the periodic 
table, in which the d orbitals are 
progressively filled . 
a) What is their common 

oxidation state ? (%) 
b) Name two important 

compounds of transition 
elements. (1) 

c) Transition elements form a 
large number of complex 
compounds. V;Jhy ? (1Y2) 

(1) 
(4 Marks) 

ii ) What is misch metall? 

9. Many theories have been put forth 
to explain the nature of bonding in 
co-ordination compounds. 
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a) On the basis of valence bond 
theory account for the 
diamagnetic behaviour of 
[Ni(CN)4]2-. (1112) 

b) What is the shape of the above 
complex? (112) 

c) Arrange the following ligands in 
the increasing order of their field 
strengths . (as in the spectra 
chemical series) 

Cl-, CO, H20, OH- (1) 
(3 Marks) 
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e) <Zcfu::>6if0sJce; <Zln.JJ<nlcm OJ<91 

<TDcfO~c6lcfu' m®m5ku) ml&om1cOO~ml 
co"l®1cw~6ls LnJW::>m6lr;d§ illJml~ neJ§ 
60T3 cfO <nl 4_2_)1 <;t:ll cOO~ cfu. ( 1 Y2} 

f) cg m J 6DSl cfO (f) j J <nlv illJ eJ eft> 60T3 ~ 6) s 

l nJ WJffi6l<J:j§ ffi6TISV ~n.J cg CQ)J(f)60T3 cfO 

omtjl~(l5)~cfu. (%) 
(5 Marks) 

8. i) nJlco1<Zcw::>cu5lc£b' cgs6'f2Jlglnf6 3 - 12 
OJ 6) ffi CQ) ~ ~ l (/) J Qj~ cfu §1 (lf6 cfu J 6TD 

6lc;t:JS~ml d-block illJe.Jcfu60T3~1ffi1> 
g:Qe.Jcfu<ZlS86ifO n.JJffi6TDo mscOO~ffi)(ll')v 
d -63::>& 6'f2Jl Re.J~ cfu ~ eJ 06TT). 

a ) ffi!DOJCQJ66JS 6)n.JJ®60JJCQJ 63Jm"J 
cfu ffi6TDJ ru 01ill om l (l5) ? (%) 

b) <nlolcfu0J611) OJ~e.Jcfu60T3~6JS ln.JWJ 

m 6lc;t:j 3 ffi6TIS~ <TDoCQJ ~c00Jl60T3~ 6JS 
(gn.J6)ffit.96®~cfu . (1) 

C) <nlolcfuOJ611) OJJ,e.Jcfu60Bcf0 WJffiJ§o 

<Zcfu8ow~ <TDoCOJ~cfr®60BcfO ~6TISJ 
c006m~6. cfu8(1)611)o omms)? (1 Y2) 

i i) m1ns:r 6lOJRffi1> n(DmDJGTT) ? (1) 
(4 Marks) 

9. <Z cfu J & CUJ1 <Z m o91 dO <TD ow~ cOOJ> 60T3 gl6l eJ 

C861ll J6Tr51 om col ®1 cfu6l§ oJl C.(() B OJ Jc006 mJ 

®1mJCQ)] n.Je.J m5lG.DJmD6l5B~o ~mJCQ)J 
-:3Jl§S~. 
a) OJ J eJ em m) cg 6llJ J 6TISV (15)1 CQ) ol CQ) 6 6) s 

ffi!DS1 01illJm(QY(5)1 nf6 [ N i ( C N ) 4 ] 2 -

<Zcfu::>owm16)~ CUJCQ)JOJ::>m mR1cfu' 
<TDJC58CUo oJlmBOJ::>cfr6l6cfu. (1 %) 

b) ffi® <&cfu8og_d ~ ffi!DC8CWJGTT516l~ 
((j)])~(l5)1 ommri' ? (%) 

C) ®86)"9 6)cfu8S6(0'(ll)1C01c006ml eJl(J)::>~ 
cfu 6) ~ ffiiD OJ (Q} 6 6) S o.O"l (lf6 (U)v (.(/) cOOJ>1 

w 6 6l s ffiYD s1 01ill ::> m {OY(5)1 nf6 m® cg co J 
o.0 611) L cfu m {OY(5)1 co1> om t.9 6 (l5)6 c£b . 

( 6l<JH<Zl~J6kEnOJ1cOOm'O <TD"lco1<TU16lm 
ffi® WJ ffi Q) Jc001 ) 

Cl-, CO, H20, OH- (1) 
(3 Marks) 



10. Halo arenes undergo nucleophilic 

and electrophilic substitution 

reactions. 

a) Write two examples for ambident 

nucleophiles. (1) 

b) Write one example for 

nucleophilic substitution reaction 

of chlorobenzene. (1) 

c) Write any two examples of 

electrophilic substitution reaction 

of chlorobenzene. (2) 

(4 Marks) 

11. How are the following conversions 

carried out ? Represent the 

chemical reactions. 

a) Ethanol to Ethanal (1) 

b) Phenol to picric acid (1) 

c) Phenol to benzene (1) 

d) Phenol to tribromo phenol (1) 
(4 Marks) 

12. a) Among formaldehyde, 

acetaldehyde, benzaldehyde 

and formic acid, which 

compounds undergo Cannizzaro 
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reaction? Give reason. (1112) 

b) What is esterification? (1) 

c) Thionyl Chloride is preferred to 

as the reagent to prepare acid 

chlorides why ? (112) 
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10. nDOC8eJO ffi!O(()"lffiJ,cfuciD ffiJ1g;&1C8WO 
n.OleJlcfu' ffi)mJm~n9:1ffilf!.IJ,O gQe.JC8ldJs0 
n.OleJlcfu' cruroJm~n9:1m1e.JJ,o ~co6J~ 
SJ,ITnJ,. 

a) <"ffi'IDmJlM~ m~~C8WOn.OleJJ,cfucJDcfr6)' 
(()ffiSJ,B0nD(()6ffio n{D'-9J,®J,cfu. (1) 

b) C8g;(r::>C80::>6)6YlJcfOm)']rfO m~g;e\cgwo 
o.a1eJlcf:h cru6YlJvm~n9:1m1cif3 ~co 
6)~SJ,ITn 63(()6 (()::lm>ln.JOJCO(o-Mmo 
n{i)'-9J,®J,cfu. (1) 

c) C8g;&OC8006l6D..Irf0cruirf0 g;QeJC8l~O 
n.Ol eJl cfu' m>6YlJum~n9:1 ml cif3 ~ffi6)CJ::l 
SJ, rrn (() 6n56 room> l n.J ru co (0(0') m 6m3 u% 
n{i)'-9J,®J,cfu . (2) 

(4 Marks) 

11 . ®o 6) '-9 6l ce:,o SJ/ 0'®1 ffi1 cB{iJ6 rrn n.J ffi1 ru co (0(0') 

ffi6'01300 n{DOOB6lffi ffiS<011XJo ? ffi!OOJWJ,6)S 
room> l n.J OJ co (0)1)) m o n{D '-9 6 ®6 ce:, . 

a) nfDLDC8mocm o.q)6m36)ffi nfD LO mocm 
<"ffi'IDcB{i}Oo ? (1) 

b) o.aiC8m::>@6lm nJlLce:,1ce6) <"ffi'IDm51ruJ 
<"ffi'IDd16JJ,cfu. (1) 

c) o.ai~mo@6lm 6l6D.Jrf0m)]rf0 <"ffi'IDd76JJ,cfu. 
(1) 

d) o.ai<Em0~6lm 6>6llSC86DJ::><Em::> 
o.ai <Emocm ffi'®d76J6 cfu. (1) 

(4 Marks) 
12. a) C8n.OomonfOM16l6lnDM, ffi!Om>f'pco'6 

cw16l 6) n.O (U)u' 6) 6DJ rfO ffi) J (0'6 <W1 cw1 
6) 6)nD cwu, C8n.O J Q)J cfuu <"ffi'ID cru1 cwu, 
gQOJc:WlnfO O{D6l®06)d76JWo6ffi cfu::>rffil 
cmo<Z ro::l o1wo~m1afi> O(BC06lc;8S6 
crrxm ? cfuOITl6TDo n{D(TID ? (1 %) 

b) C1{j)~01 nDl ~cB{iJ()Sj rfO nrorrno nro 
nfDrm" ? (1) 

c) ar®mS1<1.JJ <Ef#&06l6)0M6cfuciD m1 roQl!l1 
d%J~rrncm1m o.ffiROJ6o mmm6<Ewo~~ 
mow® cm6lW:::>6)6>mm'O C8g;&06)6'>0cw 

af@6ffi. nB)((l5)66>d:f,::>6'f'@' ? (''12) 
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d) Write the chemical reaction to 

effect the transformation of 

sodium acetate to ethane. (1) 

e) Write the IUPAC names of the 

compounds given below. 

i) CH3 - CH2 - CO- CH3. 

ii) HOOC-CH2 -COOH. (1) 
c 0 

H SS ~ t Ve 0 IV1 (5 Marks) 

13. Amines can be cons idered as 

derivatives of ammonia. 
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a) Arrange the following in 

increasing order of their basic 

strength. 

C6H5NH2, C2H5NH2 , 

(C2H5)2NH, NH3. (1) 

b) Represent a reaction to explain 

the basic character of aniline. (1) 

c) Name the reagents used in the 

Hoffmann bromamide reaction. (%) 

d) What is the significance of the 

above reaction ? (%) 

e) Give one chemical test to 

distinguish between methyl 

amine and dimethyl amine. 

Write down the chemical 

reaction. (1) 

(4 Marks) 
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d) ~ cru J M1 CQ) 0 ®0 cru ~ R t=r g}2 ":) ~ LO cfO 
<1l'@ m5l Q) :)06 (ffi (() :)ffi.) l oJ OJ rocornmo 

nti)':Pd,®J,cfu. {1) 

e) (0):)6)'f 6)cfu::>sJ,mffi1c006rrn 

cruoWJ,ce®6N3~6)S I UP AC m 8mo 

nti) 'fc!, ®2, cfu . 

i) CH3 - CH2 - CO - CH3 

ii) HOOC-CH2 -COOH. (1) 

{5 Marks) 

13. arromlmJ, cfu6)§_ arro~m:)6ffi! CQJ :)CQJJ, 6)S 

6)M 01 <ll OJ R1 o1 CB"@ m5l cfu6ffic00 :)c00:)o. 

a) ®:)6)'f 6)cfu::>SJ~c6lcOOJ,fffi cruoWJ, 
c9®6\ffi6)§_ ®DOJCQJJ,6)S <ll6QJm5lcfu 

6) L CQ) u) ®16)~ arro s1 CTlliJ J m corn! (Q~ 

al'@<lla0cill6ffi Lcfum(MO)l<N> nti)'fc!,®J,cfu. 

C6H5NH2, C2H5NH2, 

(C2H5)2NH, NH3. (1) 

b) arrom1e.fl6)~ <ll ffiJcruicfu cruj!S:)OJo 

oJl CRl Bill :)c002, (ffi 63 ffic!, (()Q(fl) l oJ OJ 

rocornmo nti)':Pd,®J,cfu. (1 ) 

C) ~ nf) J n.Qu Q) J cTO <ll lffiJ J Q) 6) 6) Q) (U)u 

L oJ OJ co corn m corn! eN> ~ oJ ~ w ::> C/)1 

c002,rrn o1~w~f@cfu~6)S ~oJ6)ffi 

'fc!,®J,cfu. (112) 

d) <1l'© LoJOJro®"IDmcorn16)c(q 

LoJ:)W::>ffijo o.(j)mD ? 

e) mi6)6)L0cNJ arroml6)mWJ,o 6)6) CW 

mi6)6)LO<lf0 arroml<llmWJ,o ®1ffi1~o1 

CQJ 6 fffi®! ffid,§.§_ 63 CDJ, oJ ffii c£h9:J 611! o 

m1ffi~C3CRJ1cOOJ,cfu . arro®16)c(q ffi:)cru 

l oJ OJ co cornmo ntJ) ':Pd, ®J,cfu . (1) 
(4 Marks) 



14. Name the products obtained in the 
following reactions. 

(glucose). (%) 

HI 

Heat 

c) \Nhat is invert sugar? (1) 

d) Name two poly saccharides. (1) 

(3 Marks) 

15. Natural rubber obtained from rubber 

latex is soft and sticky. 

a) Suggest a method to improve 

the stiffness of rubber. (%) 

b) Explain the above method. (1 %) 

c) Classify the follow ing into 

natural and synthetic polymers : 

Nylon, Starch, Cellulose, PVC 

(1) 

(3 Marks) 

16. Tranqu ilizers and analgesics are 
neurologically active drugs. 

a) What are tranquilizers ? Give one 

example. (1112) 

b) What are analgesics ? Give one 

example. (1Y2) · 

(3 Marks) 

4016 -8-

1\llllllllllllllllllllllllllll 
1 4. CID o 6J ~ 6J cfu o s 6 (010)1 ffi1 d%J 6 em ffi o ffi) 

l o.J OJ ro (010) m 60T3 g1 cW eJ rs1 cfffi6 em ~cW o.J 
em 60BW nB361CID ~ Oo ? 

a) C6 H120 6 c:(mJ::>m1ribru::>3ro 
------=---7 ------

(~~d%)0ffi)}. (%) 

b) c6 H12o6 HI (112) 
Heat - ·--

C) gJ2ciD~ruro§ o.S::lJ,CJ)CO O{j)emOcW O{j)mYl? 

(1) 

d) ffi 6JY56 ~o.J ogl ffi):)d%)6) 6)0 M6 cfu~ 6JS 

~o.J6)ffi':96CID6cfu. (1) 
(3 Marks) 

15. OffiJCO eJOR~1cW m1rrn6o ~6JYSOd%!6mJ 
ffi)JOCSOoJlcfu 06'gdCO ffi0B60J6o o.JR1~s1 
cfffi6 em CIDJPl o 611). 

a) ffi)JOcsooJlce:, 06YlJ016J~ ce:,oo1mJo 
cfuJ~emCID1m6~ 63ffi6 ffi"'CID1 m1&~(3(f()1 
d%!6cfu. (%) 

b) ill6cfuglcW Lo.J~OoJl~ ffi"'CID1 
oJl(J()BQ)Oce£)6cfu. (1%) 

C) ®06)~ 6JcfuOS6(010)1ffi1cfffi6mJOJ6Jm> 
ffi)j:) @:) oJl cfu ~ o.J J ~16) ill 06cfu cJn 
~LCID1ill (gCLJ0gl6Jill06cfuuZl gJ260B6Jffi 
CIDffio CID1ffi1ce£)6cfu . 

6)6)ffi(]eJ061iO, ffip&~", 6)ffi)g£ 
~eJom), nJl.oJl.m5l. (1) 

(3 Marks) 
16. LSOciDcB)]6J6JeJ(]ffi)C0ffi)6o mmmouZJ6Jg!6ffi)1 

m6o mo<W"'OJJ,1o.D6J(OYO) ffi)g<6"'OJQ)0cf}£)6 
em mro6em6cfu~omr. 
a) L so em ce:,] 6) 6) e1 (]ffi) & mr O{f) mflo 6TT) ? 

63ffi6B0o.Dffi6Tilo O{f)~6CID6cfu. (1 Y2) 

b) roJ(lffi8CJZJ6)grJffi)1cfu O{j)emOcW n(:j)mD? 

63ffi6B0o.Dffi6TI)o O{f)~6CID6cfu . (1 %) 
(3 Marks) 
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